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PART - A

Q.1. Answer ALL questions

a.

PART -B

(4-2i)"
(1+5i)n

()"

Find the Laplace transform of the function t cos3t
What do you mean by Directional derivative of a function? Explain?
State the Stoke’s theorem

Answer ALL the questions

2. a.
b.

4.

5.a.

Solve x%2(y —2)p+v%(z—x)q = z*(x — y)
Solve 2xz —px?—2qxy+pq=0
(OR)
Solveqz -p’y-q%y = 0
Solve z(p —q) = z% + (x + y)?
Solve the Differential Equation y"' + 9y = 0 by Power Series Method

Find the Centre and Radius of Convergence of Y., (’Z;j)i') (z—-0D"
(OR)
Solve the Differential Equation y" — 2xy = 0 by Power Series Method
(204+30i)"

Verify that the Series is Convergent or Divergent ;"

n!

Solve the following Integral Equation y(t) = tet — 2et fot e T y(r)dr
Solve y" —2y'+y=-etaty(0) =2, y'(0) = —1, Using Laplace transform

(OR)
Using convolution theorem, find Laplace inverse transformation of the following
S 2
(S* +a%)?

Find the Laplace transformation of the following function €os2t —cos3t

Find the Directional derivative of f at point P in the direction of vector
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Form a Partial differential Equation by Elimination of arbitrary constants of z=(x-a)>+(y-
b)?+1

Find the Radius of Convergence of Y,
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a where, f = , Where P: (-1, 2,4) a=2i-]j+k.

1
JxZ+y2+zZ
Prove that div (fv) = f.divv + v.Vf

(OR)
Find the Tangent and Unit Tangent vector of the curve

r(t) = 2costi ¥+ 2sint) + tk at the point (2,0,0)

Prove that div (f X g) = g.curlf — f.curl g

Evaluate f03 f_yy(x2 + y2)dx dy

Calculate jF(r).ds where f=./2+x*+3y? C:r=[t,t,t’] 0<t<3
C

(OR)
Using Greens theorem, Evaluate the line integral§. F - dr  where F[x?e”, y?e*
],over the curve C; the rectangle with vertices (0,0), (2,0), (2,3), (0,3).
1,-1,7)

Evaluate the Integral Iszdx+22ydy +y?dz by Showing Integral is path

(01,2)
Independent.
--- End of Paper ---
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